A £ 0l &8 A E Ml A
20228 =04k LBHEH Ol AHH
S 0laH
A OlAHH A (LEIBI AT/ UBAH)
chel: 0latpt 212l G=CE-E
SA - BB ERI(E) - KIRAY - BAS of aro G HIDE2
Ol&+H 775,701 726,705 48,996
OlAtH A(LBISSUE/ABIEHE) 603,049 556,134 46,915
Ol&teH 22| 219,249 205,664 13,585
A2t 54,920 7,700 47,220
201 Le+24| 7,700 7,700 0
02 2324 7,700 7,700 0
Oz=E =Xl2eld| 1,500,000& 14! 1,500
OxXtg FAlH| 5,000
—AE3E 2,000,000& * 2CH 4,000
—SXIXE(EIIR) 1,000,000& * 1CH 1,000
OWLhEd| 2 F| R4
200,000 = 6CH 1,200
401 AlZHIL SO0 45,500 0 45,500
01 Al&ZH] 45,500 0 45,500
OFLD BIA 45,500,000& * 1Al 45,500
405 KHoHE SH| 1,720 0 1,720
01 At =ZF S 1,720 0 1,720
Ozlo|Es Hah 1Y 430,000& * 42t 1,720
A2 1,340 9,618 N8,278
206 =4l 300 2,694 N2,3%
01 TH=H] 300 2,694 A2,3%
ONgss =HE8 =i 7
5,000& * 5& « 123 300
307 2I12+0I1A 1,040 1,540 A500
01 == 1,040 1,540 A500
OdZLl 25| 15,0008 * 3H » 123 540
O AFZ X+ Zeiltl 500,000& * 1+ 500
2ets RAlZ 49,920 49,920 0
201 Ler2E| 49,920 49,920 0
02 2324 49,920 49,920 0
OIIRE, 22ts HIIR=
6,000& * 520 * 1228 37,440
OJt2s, E2s +2lh|
60,000& = 520 * 40/100 12,480
LS CCTV |XA2el 1,920 1,920 0
201 Le+2gH| 1,920 1,920 0
02 8244 1,920 1,920 0
OgdEE CCTV MRS
5,000& * 24002 = 123 1,440
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Olated

TR 0|AG AR (LBIBBHUT/ApHT)
Shol: 0lart 2t2 (SH9): &)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
OZHE OO =A B4
50,0002 * 24744 * 40/100 480
2ETAG A 6. 124 31,481 125,357
101 21248 4,397 26,790 £22,393
STEI = =R 4,397 26,790 122,393
OYxY AFC2(2ETASIAL) 2TAB2
LT 73,2802 * 29 302 4,397
206 TH2H] 1,727 4,691 £2,964
01 2] 1,727 4,691 ~2,964
OB, ZZ4+22 5N YHAH 7L
10,0002 * 105 100
OBY, Y422 JlEH HYET S 7Y
5,002 * 55 * 43l 100
OB, ZF4+22 &bl % B2 7
5,002 * 55 * 43| 100
OYxY U=c2 A3 BN L EHIPY
10,0002 * 105 73l 700
OYxY U2 ATARVR JIERYCP S
2y 5,002 * 105 * 53l 250
OuFIIZ ¢E Y 1,5902 * 3002 477
ZOIRRIME 2 5,667 5,667 0
201 Br2H| 5,667 5,667 0
01 ArR22H] 600 600 0
OZQURKIHE A2B2Y 9|
50,0002 * 122 600
02 ZZ2YH| 5,067 5,067 0
OFIIQS, MBIEE ABR ¢
400,000 * 122 4,800
ONEZI | 22 267,002 * 141 267
Z=0IXIRI DI E 99,358 99,358 0
204 D242 2,400 2,400 0
03 SHY=ZY| 2,400 2,400 0
ONeggzes 100,009 * 2% + 122 2,400
301 YprBFZ 9,958 9,958 0
05 S& - 0% - BIFESE4S 9,170 92,170 0
O01Z+g 88,920
—Jlz4g 300,002 * 198 128 68,400
— 41013 300,008 * 198 * 200% 1,400
— 5|0l Fu 4
20,0002 * 199 * 23l + 122 9,120
Ostz4g 50,0002 * 652 3,250
09 BAIAEIXIRS 4,788 4,788 0




S 0lAHe
TR 0|AG A(LBHBBUT/ApHT)

ol 0laret il (=E LD
- _ _ HEAS
S - 3 - R(SH) - MRAY - BAS Ol &kt 01l AkoH HnS2
OcIZS0r £9] S SloEAXt 24
7,002 * 57% * 122 4,788
AT FEOIHOIALY 383,800 350,470 33,330
ARE FOIHOIAIS 383,800 350,470 33,330
401 AlZHI L2 383,800 350,470 33,330
01 Al 380,000 347,900 32,100
OATR F0IHOIALY 380,000
—2I2| B Y42 ZHIZA
100, 0002 * 200m 20,000
—leHE| OISR 52 ZHIBA
100,000 * 200m 20,000
—lee| 23 52 HUIBA
100, 000! * 200m 20,000
—Al2132] X2 B4R HHIBAI
100,0002 * 200m 20,000
—XSiel BFB S2IJHIBA
100, 0002 * 200m 20,000
—XS0el HB SREITA
100, 0002 * 200m 20,000
—XIS32| FUILB Ha2 L S2IHUIBA
100,000 * 200m 20,000
—NTi2] BYB 9 1HA B2 HUIBA
100,0002 * 200m 20,000
—5m02| RB 52 ZHIBA
100,0002! * 200m 20,000
—EaH2l D202 S2FHIBA
100, 0002 * 200m 20,000
— g4l 012012 SEFHIBA
100, 000! * 200m 20,000
—AE12 ASLHB A2 FHHIBA
100, 000! * 200m 20,000
—AIE2R| 2 SRERBA
100,00024 * 200m 20,000
—2212] 0IE2 42 FHIZA
100, 0002 * 200m 20,000
—2202| T2 S2IHIBM
100,0002 * 200m 20,000
—S212| AEXT&BAF 100,0008 * 200n 20,000
—S=2| AR ISR IHIBA
100,00024 * 200m 20,000
—LHR1el UB S2IHIBA
100,00024 * 200m 20,000
—LiEioel Q9B 4R FHIBA
100, 0002 * 200m 20,000
03 Al&=2CHE| 3,800 2,570 1,230
OATS EOIHOIAY Al&ROHY|
3,800,008 * 14} 3,800
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S - ZB . CRI(E]) - MIRAY - BES 04 b0t e 2
29ZI(01&H) (D1EHIIEH 172,652 170,571 2,081
S22 66,238 65,567 671
A2l 66,238 65,567 671
101 21244| 66,238 65,567 671
01 8=+ 66,238 65,567 671
OAlZte 2R
10,9523 * 14F = 36AI2t « 128 66,238
i 106,414 105,004 1,410
|23l 106,414 105,004 1,410
201 YBr2 | 45,214 43,804 1,410
01 At22teld] 32,310 30,900 1,410
O=AMEX Y 16,000& * 1584 « 128 2,880
OSZ20iAldl 7,000& * 44! = 5% » 123 5,040
Ogeterz 100,000 * 12& 1,200
OAHE M7 50,000& * 128 600
OL72 2=&H] 7,200
—SAPD| 22l 500,000& = 1CH 500
—Zgly 2l 100,000 * 4CH = 50/100 200
—=SAD| EYH 200,000& = 53] » 1CH 1,000
—IEIE (&) £ 200,000 * 53| » 4[H 4,000
—I2lE(Zd) Ed 200,000& = 33| » 104 600
—PC =2l 100,000& = 15CH = 20/100 300
—JIEt ==2lHl 50,0002 = 123 600
OJIEH AR2t2ld] 5,000& * 5% » 123 900
. =ZY| 14,490
—2& 60,000& » 198 = 118 7,080
—=3 30,0002 » 1% » 247 7,410
02 2222l 12,904 12,904 0
02223 & HAl 12,904
—RERI 135,000& = 12& 1,620
—FEYS AES 10,000& * 123 120
—&I|&H| tE2AC | =2
120,000& = 12& 1,440
—&EA &S 700,000& * 12& 8,400
—&ol+=ER3 45,0008 + 128 540
—fHIZstE® &)1z 47,0003 * 128 564
—&3x L 220,000& * 13| 220
202 Ot 48,600 48,600 0
01 =W 48,600 48,600 0
O2LH 0| 20,000& * 159 » 124 » 128 43,200
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